F49[E HBRPFRYVI—HEKRE

35U 11E B OB C -
= i 13:00~
IR IR S s
41
E@ 14:30~
1 DERTERE1205% 2|0

4HHE (238)

—

1HH(20H)
123456789 10[11]12[13[14][15]16] 17] 18] 1920 212223 242526 27| 28] 29[ 30] 31 32
INE | &(E(#| S EfEa|ER H|FR] | F BRI E|XIZIWB =G |ZBFB|FHEIFE
’ 18 I
% | A B (T BR|[8(2x |
= 17
#IBERZFRBEEREBEE B LK RERSA B[ EIMAFBB|E SNV KBRS
A TEIERZER £ 15 |B BEEERER % 1§ |C EELER = 15 |ID EWEDER %= 1§ [7B208(A)
A FEIFREE = 15 |B BEEEDRER = 5 2[E#-7H218 ()L RBE22H (k)
E RAFEYvH—i5 £ 1§ |F E£FELIBRES = 15 HERp - REE7 H238 (K)




